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X 76,149 158,246 74,813 83,433 | EEFILUETAT 739 1,776 837 939
E 4,530 9,345 4,309 5,036
BEKET1T 918 1,863 893 970 |EREEZHI2T 1,433 3,166 1,512 1,654
BEKET2T 373 786 361 425 5 1,433 3,166 1,512 1,654
B 1,291 2,649 1,254 1,395 |[R=E~ EBT1T 253 730 353 377
< FE] BT 9,396 22,307 10,537 11,770 |lE=E4~ ER2T 288 540 272 268
Lt RER1T 353 536 263 273 |R=E~ ERI3T 450 1,014 500 514
Tt RERT2T 235 419 195 224 |R=E~ ERT4T 203 410 186 224
Lt RER3T 244 414 219 195 |R=E+~ ER5T 366 648 340 308
Lt RERT4T 179 294 143 151 5| 1,560 3,342 1,651 1,691
It RERST 180 367 187 180 | KZIFAT1T 783 1,645 792 853
Lt RERGT 100 217 107 110 | KEIRBT2T 915 1,855 890 965
Lt RER7T 81 164 77 87 5| 1,698 3,500 1,682 1,818
TtRERST 134 210 107 103 (A RERT1T 133 227 102 125
g 1,506 2,621 1,298 1,323 (A RERT2T 148 323 160 163
LIEAET1T 287 590 265 325 |ImRERST 360 891 404 487
tfEBET2T 1,217 2,557 1,197 1,360 |FARERTAT 272 441 170 271
tfEBET3T 1,088 1,980 964 1,016 |FARERIST 149 345 149 196
tfEBET4T 986 2,098 1,021 1,077 5| 1,062 2,227 985 1,242
g 3,578 7,225 3,447 3,778 |F{E AT 2,318 4,908 2,391 2,517
ERAET1T 627 1,480 733 747 |’ = AHT 255 439 203 236
ERATET2T 373 836 397 439 |BEEERMET1T 268 494 235 259
ERATETST 396 837 403 434 |BEEEFRMET2T 568 1,153 557 596
g 1,396 3,153 1,533 1,620 (B EEFRMAETST 730 1,492 702 790
==Yl 1,064 2,185 1,044 1,141 (BEEHRMET4T 831 1,672 805 867
HEWEET 292 517 230 287 |BEE ERMETST 707 1,587 757 830
HERE2T 402 649 277 372 B 3,104 6,398 3,056 3,342
HEWREIIT 298 530 266 264 |EEEMEILET1T 232 368 160 208
HEWE4AT 155 287 134 153 |BEE EHBitRT2T 438 856 397 459
g 1,147 1,983 907 1,076 (B E5#EiLATST 536 1,114 513 601
HEREET 1,549 2,674 1,122 1,552 (B B#EitET4 T 643 1,293 634 659
HEREET2T 2,775 5,854 2,713 3,141 |BEE#BILAI5T 744 1,591 763 828
HEREBEIIT 2,831 5,202 2,235 2,967 5| 2,593 5,222 2,467 2,755
HEFETAT 2,053 3,822 1,659 2,163 |EEBH#EET1T 1,052 1,943 942 1,001
HEREEIST 1,381 2,799 1,359 1,440 (BT B1BHT2T 152 326 165 161
£t| 10589 20,351 9,088 11,263 [BEBE#AT3T 2,307 4,425 2,133 2,292
HUEET1T 838 2,197 1,063 1,134 B 3,511 6,694 3,240 3,454
HYERT2T 541 1,272 610 662 |BEERZET1T 648 1,324 597 727
g 1,379 3,469 1,673 1,796 (B R EBHEZET2T 470 980 461 519
MEET 427 926 447 479 | BEETZAI3T 346 792 387 405
EET2T 331 757 367 390 B 1,464 3,096 1,445 1,651
g 758 1,683 814 869 |EEEARETTT 717 1,339 662 677
WHAEET1T 739 1,822 851 971 |BEEEARET2T 268 584 288 296
WHEEET2T 204 454 216 238 |EEEARETST 1,066 2,483 1,206 1,277
RT3 T 793 1,619 825 794 B 2,051 4,406 2,156 2,250
g 1,736 3,895 1,892 2,003 |EE SMEmET1T 331 720 340 380
RKEIRAT 5882 12,811 6,129 6,682 |EE BMEmPET2T 244 483 230 253
hRERTT 291 532 256 276 |BEE EEBET3T 653 1,381 663 718
hRER2T 202 331 152 179 B 1,228 2,584 1,233 1,351
hRERST 228 451 221 230 |/\TFdt 94 179 82 97
hRERT4T 294 530 254 276
B 1,015 1,844 883 961
o A BT 579 1,244 592 652
hEEEET1T 659 1,289 603 686
hEEEET2T 894 1,447 665 782
hEEEETST 472 1,133 541 592
hEEEET4T 763 1,476 735 41
hEEEEST 856 1,667 789 878
hEEEET6T 3,388 6,054 2,866 3,188
5| 7032 13,066 6,199 6,867
P =T 900 2,254 1,111 1,143
BAFBILETTT 1,041 2,115 1,007 1,108
BXEFILET2T 978 2,155 1,044 1,111
BEAEFILAIST 1,772 3,299 1,421 1,878




